PNEIM=1wnool (HEK
A AYRERO)
PRI <F =< REEZ)

HEORO<RI<
PEOIRIRE =B » =<
X oo K= RE B
Y5°
PEIER=0omNOT
G DR+ (010 (O H < YO, <14 e
BIE EFRKME (Ovie
B¥mn-C - =-c0onN) X
ONG-00NO- ONNVO
kennan100nin@orion.ocn.
_S%A%IWTFbZV
[EAiEE Qo~no- oune-

\O M O\ 0

IR Rk SR I
EXIREEUNY IRz 08 mEE

BRI 0 [IKBHESR

R WREO¥640°
poif=omOE HEoif
[SR-CEIR WE-HE
oERIR)

P N = WO o -2
EEEny—

P BYRE =0 Q46

P 2RI =S R0 L6
(S0 o 6 S B R NT T
&)

> NE =8

P EIm =10 <

P =RMP R0 LK
H I EERR

| eicfOESE R IRENC P N\

"R BIAF FREEDC H
EDERLN
PER=EN HKEND I

T 1EXIREH
& IEHaL-oaHE

4N HR (HEwL & PUR=omJOmIHP

SEM-ERONR)” XI|—R—
HAL DR —4F NN A =X
(BRI IBXE)
P ELES=onvIE
OB IS g-u<x 3-

OMNN

LQONFTLON T
OB 2 © oo ubimf ¥ |

I Q R QUK Y B Y
Ot OB LS

P U= OB EEEYELTR
ERiReE
PEHIKFE=0m{OE—nI
T HRoir SR-FRiotk
MROBEHF RO RY D
H- Ry o

B2 Q0N+t L0in™ g

HMRHE

#3I QR - oo~

B S = 5010 B i 1) B R B
=g

P OE= 0o mGIEH -
<AINN - BRERRA - Bl
EERRENESRR - YREES
& QUR-JOE--RHE
<KW - RHQURD - &
QUXHEERY FOI—
SmME - L4 - GE
BN LJNN omX—
M- (SRE)
TR ~OOE .- SERW
TR QOIS HLR -
SR - SUTEIH S 4

ea]

@ 201311

P HE = ENXIBRERE
P I =X IIB

mgﬁiﬁmAnim%ﬁi

il QX -om~m

PR’

(VB0 ST

izl )

(3 S FT i A ok —

FEQENANLIIENS 2D EHOHE - BHWFo’
R3O0 #0 N OIS HEQERHIIWY
BEREKON S#0° 9PN RYIE SN QLRI T

P <EIME= Q400 SENRQEN S RRES Y HEXR
XHBEX-C B XHIR

PSR =XR-EEE NERER SXHIEE =
AT S RFERIZE AV IIXITER {3

f@ﬁﬁﬁﬁ%ﬁﬁﬁ 0R - N (RE-aewn) )

USRS EEQERITE
ERREEQHIEIIWENNS” N
S EBOVBI0S ¢ QIEEEEN
I QIR O\ 5 H640°

HERE NI EE o0 1) A
B ELHELIREZWE
B {IERKLEE
o HUEFE<EL Y NL
N Q A IIZEE S
B ORI =1E T LR

A TSRS 4D O/ HOHIEERY

R SNCEIN
B{YIIE R = S m— R o

MR LI (REFEmMRK

EmMRO)
BEONSHEEL=0m{m

R-HE (Biboi) Hiso

XRELSRS®
WO AR = E- D I Y

S EWIR< D IREERRER Y

HERICOOE —~RIIEH

13 BRI FR M ERRE ¢

RF OB VLS
RSt diiN NS lngnteSiin Nk
(NED) SO

B A — I —IN R0
KRN O —2 s Q58
RIS LSBT EL—GC—
INRIIEE Y SO
@ [ BAelbaRumags  ©

ROV RS0 S 1Y
ez ER O P -

HEA5mm X #§182mm

HEA5Mm XK 89mm
g7y r 1t

10,000M/H

O%# 20,000M/H

mp

g
i [Oek:

B | TMEET 5 \— T D B

#
§
L

f

H
[=]
¥4

BERURE| - R TR 6 K H

=
E5E 34

P2

ER23F8F 18817

27



